
Time: 10 Minutes Paper Math 8th (T-1) Total Marks: 10

3rd Month, 2nd Week, 1st Day Exercise 1.24  Complete

 Answer the following questions: (2.5 × 4 = 10)  
Q.1. A man left Rs. 240000 as inheritance. HIs heirs are 6 daughters and 2

sons. Find the share of each inheritor so that a son gets twice of his

sister's share.

 2  6  240000 


Q.2. Allah Ditta died leaving a property of Rs. 850000. He left a widow, two

son and one daughter. Find the share of each in the inheritance if the

burial expenditure was Rs. 50,000 is due to him.

 2  850000 
 50000 

Q.3. Akram left a wealth of Rs. 780000. His heir are a widow, 3 sons and 4

daughters. Calculate the share of each one if the funeral expenses is Rs.

30,000 and a loan of Rs. 50,000 is due to him.

 4  3  780000 
 50000  30000

Q.4. A man died leaving a saving of Rs. 72,000 in the bank. Find the share of

each: widow, one son and one daughter.

 72000 
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